Paper Code: 3331

B. Com.Sem. VI -Examination,April-2016
Business Statistics- I

. Marks: 70
Imstructions: 1) There are 5 compulsory questions in this question paper.
2) All questions carry equal marks,
3) Use of Scientific calculator is allowed.
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Explain giving illustration, the following terms:
1) Event
2) Sample Space
3) Certain Event
4) Classical Probability

Two unbiased dice are tossed simultaneously. If X and Y denote the
number on first die and second die respectively. Find the following
probability:
(1) PX+Y=9) (2) PX+Y>10)
OR
Define the following terms:

(1)Random variable (2 )Discrete Prob. distribution

(3) Continuous random variable (4) Expectation of ar. v.

A problem of probability is given to three Students Aditi, Prianka and
Mabhesh. Their chance of solving it independently are 0.6 , 0.4 and 0.5
respectively what is the probability that at least one of the three will
solve the problem.

What is mathematical expectation? State important properties of
mathematical expectation,

If the demand and its probability of a commodity is as shown below;
Demand(x)| 5 [ 6| 7 [8 | 9] 10 |
Probability : 0.05(0.1103]0.4|0.1|0.05
Find Expected demand and Variance.

OR
The probability distribution of a random variable is given below

x; (0111213456 7
P(x) | 0|k |2k |2k |3k |K*|2Kk*| 7k*k
Find the value of constant k and also compute the value of E(X).

State the difference between a discrete probability function and a
continuous probability function. |

Define Binomial distribution. Write the properties of Binomial
distribution '

A random variable X has a binomial probability distribution with mean -
6 and variance 3.6. Find P [X = 3].
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OR
Define normal distribution. State its important properties.

A workshop produces 2000 units. The average weight of unit is 130
Kg with a standard deviation of 10 Kg. If the weights of unit assume to
follow the normal distribution, then —

i) How many units are having weight less than 142 Kg?

ii)  How many units are having weight more than 146 Kg?
Explain the following terms giving illustration:
i) Type I Error and Type II Error.
ii) Standard Error
A random sample of 10 boys had the following I. QO’s. :

70, 120, 110, 101, 88, 95, 107, 100, 98 .
Do the data support the assumption of population mean I. Q. of 100?
OR

What is t — variate ? Explain t- procedure to test the significance of 8

single population mean from a specified value,

The following information shows height of soldiers and sportsmen.
Use F- test to test whether their average heights differ significantly.
Soldier 6316516716971 71173 73|70 68
Sportsman | 61 | 63 | 65|66 |67 | 686367
Explain the difference between the large sample and small sample.
Two populations have persons with 30% and 25% blue eyes
respectively. If two samples of size 1200 and 1000 are taken from
these populations test whether “ The difference of sample proportions

is zero”.

OR
Describe in brief, the appropriate large sample test of significance for
testing the significance of difference of means of two populations.
The following data relate to the wages paid to workers in a certain
industry:

Factory A | Factory B
Sample Size 586 648
Mean weight of unit in gm. 525 475
Standard Deviation 100 110~

Is the difference between mean wages of the two samples significant?
Apply an appropriate test.



